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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers to
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Q1.

Q2.

Q3.

Q4.

Q5.

Q6.

WRd 1 Fehel W] 3crg (SH.Edt.) % ad 2015 % qd aun 9 2015 % wvEw
ufteher fafyr # st it samen hifs | (150 sgi | 3w &)

Explain the difference between computing methodology of India’s Gross
Domestic Product (GDP) before the year 2015 and after the year 2015.

(Answer in 150 words)

ol S92 A1 U9 991 & e I T hIfST | 39 g1 aiel & Huea! @l

THIST | (150 Wrsa1 # IR &)

Distinguish between Capital Budget and Revenue Budget. Explain the
components of both these Budgets. (Answer in 150 words)

< % HD 9 A gt gurt 7 dwia o @y feuel ) gmfies-anfie feafy &
U % o foper wohr werar i 8 2 (150 wise) # IeR ifm)

How did land reforms in some parts of the country help to improve the
socio-economic conditions of marginal and small farmers ?

(Answer in 150 words)

WA % 91 ehe o TUIH H, gen-fa=ms 8 iR form dim o games 2l 2
(150 wsq] # IR i)

How and to what extent would micro-irrigation help in solving India’s water
crisis ? (Answer in 150 words)

S-400 &S &N e, fova 3@ Ty Suetew o= TRt wonet Y qern # few
TR © qehrh! €9 8 953 B ? (150 IIsal § IR i)

How is S-400 air defence system technically superior to any other system
presently available in the world ? (Answer in 150 words)

TS, 2021 H @ H fawa & Aaret & fret aiem § e d 26 dyw U
SieraTy IiEad Fed |, ey it T8 BRa fire ued o wieH T i |
IS TR TT3aYH (3M8.08.T.) # I8 foam vgeht ar wve feam ma o 2

(150 Srsq} # IR i)
Explain the purpose of the Green Grid Initiative launched at World Leaders

Summit of the COP26 UN Climate Change Conference in Glasgow in
November, 2021.

When was this idea first floated in the International Solar Alliance (ISA) ?
(Answer in 150 words)
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Q7.

Q8.

Q9.

Q10.

Q1l.

fova wameen Wed (S ua.aM.) g B & # 9 fohy o wifoa e @y
e feenfadEt (TRl Sh.) % gea femgett @1 v it | famma 2005 % st @,
3 fora yopr i 8 2 39 Toifea aFehl = 9Ted w3 & g, W%U@amw
sy H foh aitadHl i Taehdr 2 2 (150 1sai § I difom)

Describe the key points of the revised Global Air Quality Guidelines (AQGs)
recently released by the World Health Organisation (WHO). How are these
different from its last update in 2005 ? What changes in India’s National Clean
Air Programme are required to achieve these revised standards ?

(Answer in 150 words)

YT HEUd Hehel o fTT Ra <t Serar it fagemn Hifse | fiest &= gwepl 4, wra
%ﬁﬁamﬁwmmﬁmﬁ%mm%ﬂwﬁ%m
AT | (150 ¥t & I ifirw)

Discuss about the vulnerability of India to earthquake related hazards. Give

examples including the salient features of major disasters caused by
earthquakes in different parts of India during the last three decades.

(Answer in 150 words)

== Hife 7o fope wohr 3wt senfirferart o Svdieor o+t wifegn & e wta
7 | T 3R =i gt Tl W ot «Aifgn Y awen @ fued % forw fove oM
el YT bl foedR & 9T | (150 Wsal 7 IR <)

Discuss how emerging technologies and globalisation contribute to money

laundering. Elaborate measures to tackle the problem of money laundering
both at national and international levels. (Answer in 150 words)

W sl 3R Y&t 1 &H § TWd gL, HH-91 ¥ 84 el 15’ g9l & 99
w1 fawwo Hifvw | @y &, ¥ ufced awen & foeg wiers syl o=l
i | (150 wsql | I i)

Keeping in view India’s internal security, analyse the impact of cross-border

cyber attacks. Also discuss defensive measures against these sophisticated
attacks. (Answer in 150 words)

1 AT FGAA & [ WRAN AFTaTT 4 g & ¥ V-3HR & TTocdH H1 W
foran 8 2 R wfga o194 3w i gfte hifsie | (250 wsal # 3 )

Do you agree that the Indian economy has recently experienced V-shaped
recovery ? Give reasons in support of your answer. (Answer in 250 words)
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Q12

Q13.

Ql4.

Q15.

Q16.

Q17.

“Hrerat wa gurasht i wafg & fou snurfie-seawmt 4 faw smevas & 17
TRt 31gve o aiged # foaemn i | (250 wrsgt & 3w i)

“Investment in infrastructure is essential for more rapid and inclusive
economic growth.” Discuss in the light of India’s experience.
(Answer in 250 words)

Tsia @ glen sAfufEm, 2013 6t gea favvard w@n € 2 @ geen GeEs 4 9a
9@ AT HUITY Bl G A § foRE TR FEEar H 7 ? (250 Weal H I I10)
What are the salient features of the National Food Security Act, 2013 ? How

has the Food Security Bill helped in eliminating hunger and malnutrition in
India ? (Answer in 250 words)

st fafaudr & amer disr FAtfaat = 8 2 3wt stenfiferat waa fafaudr & fog
e T 31T Y T B 2 (250 gl ® I i)

What are the present challenges before crop diversification ? How do emerging
technologies provide an opportunity for crop diversification ?
(Answer in 250 words)

I SA9-Tenfieht 7 sy g e -arardt Iuaferat @ 2 2 3 Iuafeit aure
& e ot & Ica™ # fopa yeRR wETe Bt ? (250 eaT | I GiY)

What are the research and developmental achievements in applied
biotechnology ? How will these achievements help to uplift the poorer sections
of the society ? (Answer in 250 words)

Ty 2014 # iifoes fosm & Tee QPR G ®9 A MM, T G AT i
1990 % g9k H el Ter.3. €Y. & erfashr & fore wem foram mam on | 39 swfasshr 4
HHa-1d o efe Sfiad 1 fopm wepr gwifera fomam B 2 (250 wrsai § 3w i)

The Nobel Prize in Physics of 2014 was jointly awarded to Akasaki, Amano and

Nakamura for the invention of Blue LEDs in 1990s. How has this invention
impacted the everyday life of human beings ? (Answer in 250 words)

GIH TZ FAdTg Ui SHaeh Trier (0.0 4d.) & H.enf. & 264 &
% yq@ Rt %1 gl HifSe | 38 ae § aRa gra i TS JeEeEgar @& 8 ?
(250 Srsal # I difS)
Describe the major outcomes of the 26th session of the Conference of the
Parties (COP) to the United Nations Framework Convention on Climate

Change (UNFCCC). What are the commitments made by India in this
conference ? (Answer in 250 words)

HXS-G-GST 4

15

15

15

15

15

15



Q18.

Q19.

Q20.

Yrger & fafie wron ot wwat o1 avla iy | odl goeeeR Sifen weuE

WiHifd % wEwqel Teehi i oo HFIRT | (250 weaT & I Afvm)

Describe the various causes and the effects of landslides. Mention the

important components of the National Landslide Risk Management Strategy.
(Answer in 250 words)

WRd I ARk G % ol ST TS iR AT FRA gRT Seqd SgaTm
et =1 fawcivo hifw | 39 Gehel 1 gepeen 1 U eI Syt o
==t T | (250 Ieat # I &)

Analyse the multidimensional challenges posed by external state and non-state

actors, to the internal security of India. Also discuss measures required to be
taken to combat these threats. (Answer in 250 words)

HAdehd g hl Afearar 3R fierar, 30 HRON, Tra-al qo IR T H1 faveivy

HITTT | ATGHATE % TR F IYEH » (07¢ IS IH a1l 3T 1t gaa A |
(250 wrsgi # I ifo)

Analyse the complexity and intensity of terrorism, its causes, linkages and

obnoxious nexus. Also suggest measures required to be taken to eradicate the
menace of terrorism. (Answer in 250 words)
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